Do0oodooobo ogooo|jpoo|nooooog

gogn gogoboobodd
goooo|jpoo|jpoooooo
goon goooboobboodgd
HEN .00/0
gogn go:0odd
0 [0 :201903
go:0oo
godn gooonbobsnnvyoel
goon 0538-8999499 18553828229
HREREEN

lLdggoobooobobboooooooboboooouga
200udogoobobbouoooon
gbboudooouoboobbuooooogoobnooo
goooobod

lL.00000o0oooon

20 00gonobon

pouoooad

CERERERN

goooobod
goboboobbobbbodoooooboooo
gobbobbobbuododddhioogll 125901 150g0]
O00000 0= 45kN/m

goboboboddz 40%



gudoobobbogooooon:
O0=000000-012~150 cmO
OO0=000000g*0.7
go=00000oD*.4

00000 O0gs8iomm*430mm 00000000000 0ODODOOe5emO 00O 30cmd O O 15¢cm
(obboobUoobbOobobUoobbOoobUoobbOoobUOoOonb2%)

gooooo

gobobbboooooobobbbdoooooboobbboooooobboobobboooad
OO0O0000000O0GB/T17639-20080


http://www.tcpdf.org

